
                                                  MATHEMATICS 

SOLUTION 

1(a) Let the other side of first triangle be s 

      900 + x + s = 1800 (sum of angles in a triangle) 

                     x = s (base of isosceles triangle) 

     900 +x + x = 1800 

        900 +2x  = 1800 

                 2x = 1800 – 900 

                 2x = 900  (Divide both sides by 2) 

                   x = 450 

         x + 900 = y (sum of two adjacent interior angles) 

     450 + 900 = y 

            1350 = y 

Therefore, y = 1350 

Let the other unknown side in second triangle be m 

 m + 370 + z = 1800 

 m = 450 (vertically opposite angles are equal) 

 450 + 370+ z =1800 (sum of angles in a triangle) 

         820 + z = 1800 

                  z = 1800 – 820 

                  z = 980 

(b) x + 350 + 2x + 970 = 3600  (sum of angles in a quadrilateral) 

     x + 2x +350 + 970 = 3600 

      3x + 1320  = 3600 

      3x = 3600 - 1320 

      3x = 2280  (Divide both sides by 3) 

        x = 760 

  x +y = 1800 (sum of angles on a straight line) 



760 + y = 1800  

          y = 1800 – 760 

          y = 1040 

(c)     n = 1080 (congruent angles)  

    m + 1080 + 1080 +310 = 3600 (sum of angles in a quadrilateral) 

                       m + 2470 = 3600 

                       m = 3600 – 2470 

                       m = 1130 

(d) Let the other angle be z 

       1320 + z = 1800 (sum of angles on a straight line) 

                 z = 1800 – 1320 

                 z = 480 

Also,  let the unknown angle be P 

      380 + 480 + P = 1800 (angles in a triangle) 

               860 + P = 1800 

                        P = 1800 – 860 

                        P = 940 

In the quadrilateral,  

y = 940 (vertically opposite angles) 

w + 1290 = 1800  (angles on a straight line) 

           w = 1800 – 1290 

           w = 510 

Therefore,  

940 + 510 + 900 + x = 3600 (sum of angles in a quadrilateral) 

2350 + x = 3600 

           x = 3600 – 2350 

           x = 1250 

 



 

(2)  Sum of the interior angles of a polygon is 1800. Find the number of sides of the polygon.  

SOLUTION  

         (n – 2) 1800 = 1800 

         Divide both sides by 1800 

         n – 2 = 1 

         n = 1 + 2 

         n = 3  

   Therefore, the polygon has 3 sides.  

(3) The interior angles of a pentagon are: (y + 13)0, (y + 15)0, (y + 23)0, (y + 29)0 and (y + 40)0. 

      Find (a) the value of y. 

              (b) the value of each interior angle. 

SOLUTION 

   (a) There are 5 interior angles in a Pentagon, therefore n = 5. 

        (n – 2) 1800 (interior angles) 

        (5 – 2) 1800 

        = 3 X 1800 

        = 5400 

y +130 + y +150 + y + 230 + y + 290 + y + 400 = 5400 (sum of angles in a pentagon) 

Collect like terms 

y + y + y + y +y + 130 +150 + 230 + 290 + 400 = 5400 

   5y + 1200 = 5400 

   5y = 5400 – 1200 

   5y = 4200 

Divide both sides 5 

    y = 840 

 

 



(b)  Angle 1 : y + 130 

                   840 + 130 

                = 970 

     Angle 2: y + 150 

                 840 + 150 

               = 990 

   Angle 3: y + 290 

              840 + 230 

              = 1070 

    Angle 4: y + 290 

              840 + 290 

              =1130 

   Angle 5: y + 400 

             840 + 400 

             = 1240 

 

 

     

 

 

             


